..the lines are cut by a
transversal & the
corresponding angles are
congruent

..the lines are cut by a
transversal so that
alternate interior angles
are congruent

..the lines are cut by a
transversal so that interior
angles on the same side of
the transversal are
supplementary

..the 2 lines are
perpendicular to another
line & they are in the
same plane

If 2 parallel lines are
intfersected by a
transversal, then the
corresponding angles are
congruent.

Two lines are
parallel if...

Two lines are
parallel if...

Two lines are
parallel if...

Two lines are
parallel if...

Transversal
Postulate



